& % 502 - 45 9] 457} obd AL

® 5 @ a+3

@ a®>-9 @5612




H7]
@ x*-16 © x*-2x
© x2-4x+4 ® x*-16
® 6,0 06 )0, ©, ® ® ©,6e
@ 9,0 ® O,

@ (x—4)(x+4)

© x(x-2)

© (x-2)°

® (x*+4)(x-2)(x+2)




@ 3x ® xy @ 2xy ® 2x?

©2x

4x% - 2xy = 2x(2x - y)




4. o35 dHdAFAC] He AS BF 12H?
@x2 +10x + 25 @x2 +8x+ 16
® x?+12x+25 @ 2x2 + dxy + 4y?
(@)x2 + 6xy + 9y?
@ (x+5)2
@ (x+4)°

® (x + 3y)?




i)
oo
I
o
o
oft
:?L_L
do
a
%
+
30,
rlr
o,
I
I
o

>
Mo

(@)612—|—2ab—|—b2 = (a+b)?

@ x*+ (a+b)x+ab= (x+a)(x+b)
® a® + 3a2b + 3ab® + b® = (a + b)*
@ a®+b® = (a+b) (a® - ab + b?)

® a*-b* = (a-b) (a® +ab+b?)

~&B

o]zl 479] Fo]9] Yol g2
a?+ab+ab+b?>=a*+2ab+b> ---O

a+b A ZALEE TE 4 9, o] If
(a+b)2 .©
A, ©A a2 + 2ab + b2 = (a + b)?

149 Fol2 ol gotd 2% 1y Zo| T

Ay

ol rE

1o 1o

AN

& &
fr S




O|ZFA] 4x? - 8x +a 5 HHAIF
ek ol W, a+b+c O G T

Al
A

o7 ¥AW p(x+c)’ 7t Ak
skojet

> E:

> Hetl a+b+e=7

B *
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